Errata

Statistical Optimization for Geometric Computation: Theory and Practice

Kenichi Kanatani
Okayama University, Japan

p. 35 third line below eq. (2.49)
Error: Let {nq, ..., n,,} be

Correct:  Let {ny, ..., np_mn} be

p- 35 eq. (2.50)

m
Error: Py =1- Z nn;
i=1
n—m
Correct: Py =1 — Z nin;
i=1

p. 42 first line below eq. (2.91)
Error: By multiplying the first equation by
Correct: By multiplying the second equation by
p. 44 first line
Error: matrix Py implies
Correct: matrix Py implies
p. 44 first line below eq. (2.105)

Error: where A\pax is the smallest

Correct: where A ax is the largest

p. 46 eq. (2.117)

,

Error: <Y N (ug ) =
i=1
n

Correct: < Z A2 (ug, )’ =
i=1

p. 47 eq. (2.120)
Error: T X Umax + N A
Correct: T X Umax
p. 47 three lines below eq. (2.120)
Error: The right-hand side means ... the singular value Apax-
Correct: delete
p. 60 eq. (2.205)
Error: As = A[A].
Correct: A, = A[A].



p. 62 eq. (3.9)

Error: X ~ EX]+0( ),

H%‘H

Correct: X ~ E[X]+ O(ﬁ)’

p. 62 first line below eq. (3.9)
Error: and hence X ~ E[X]
Correct: and hence X ~ E[X]
p. 66 third line below eq. (3.28)
Error: along a curve (Fig. 3.2b)
Correct: along a curve (Fig. 3.2¢)
p. 66 fourth line below eq. (3.28)
Error: (Fig. 3.2c). If
Correct: (Fig. 3.2d). If
p.- 72 second line below eq. (3.54)
Error: its characteristic function has
Correct: its moment generating function has
p. 77 fifth line below eq. (3.74)
Error: the null space of A
Correct: the orthogonal complement of the null space of A
p- 85 eq. (3.128)
Error: +P‘§ N é(ac)(VQ log p, AB)p(x; 0)dx
Correct: +P‘3 [, (0(x) — 6)(Vglogp, A8)p(z; 0)dz
p. 105 eq. (4.42)
Error: (p, Ap) + (n,An) =1
Correct: (p, Ap) + (n,An) =0
p. 109 first line below eq. (4.61)
Error: where v «x n & (—1)
Correct:  where v o n @ (—d)
p. 117 first line above eq. (4.94)
Error: ifa<b(a>0).
Correct:  ifa > b (a < b).
p. 117 second line from bottom
Error: called the axis and the vertex,

Correct: called the verter and the axis,

p. 119 second line above eq. (4.99)



Error: and o1, 02, and o9
Correct: and o1, 09, and o3
p. 119 first line below eq. (4.99)
Error: principal axes in the the
Correct: principal axes in the
p. 119 second line below eq. (4.99)
Error: radii o1, 09, and o9

Correct: radii o1, 09, and o3

p. 126 egs. (4.124)

‘ ;L R 0 B R" 0 ,
Error: V_N[<—hTR 1 vl, v=N]| T 1 V).

-
Correct: I//:N[< Ifj‘r ?)I/], IJZN[( —f?rR ?)1/]

p- 133 fourth line from top
Error: F® (wy, ... ug)
Correct:  F®)(uq, ..., uy)
p. 133 first line below eq. (5.5)
Error: F® (wy, .. up)
Correct:  F®)(uq, ..., uy)
p. 152 eq. (5.117)
Bror J >,
Correct: J
p. 157 eq. (5.145)
Error: U = N[v1 — Avy| = N[vy — Avy|
Correct: = N[v; — Avq] = N[vy — Avs)
p.- 180 Fig. 6.5
Error: Fig. 6.5(a) and Fig. 6.5(b) are in opposit order.
Correct:  Interchange Fig. 6.5(a) with Fig. 6.5(b).
p. 230 last line
Error: decrease by two
Correct: decrease by three
p. 338 eq. (11.71)
Error: GG ' =(hxR)(hxR)" = (hxI)RR"(hxI)"(hxI)(hxI)" = Py,
Correct: GG’ =(hxR)(hxR)' =(hxI)RR"(hxI) = (hxI)(hxI)" = Py,
p- 339 eq. (11.79)
Error: K = Vpdiag(1,1,0)V} R = (v1,v2, h)A(R v, RTvy, RTv) .
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Correct:

p. 425

Error:

Correct:

€q

K = Vpdiag(1,1,0)V} R = (v1,v2, h)A(R"v;, RTvy, RTh) .

. (13.24)
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